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1. In the word ‘pre-view’, the morpheme ‘pre-' is a(n):

,(z/preﬁx
() infix ( 0\) \/

(c) suffix
(d) circumfix

@n the word ‘un-pre-view-able) the morpheme ‘pre-' is a(n):

@preﬁx i\ '
: (L) 195D
(© suffix /L?P [’A{(' r A!/ A el
(d) circumfix A/l (feuP) A"i
AP A A
Three of the four sentences below illustrate a recursive syntactic rule (they each contain a
Ol

another phrase of the same category). Which one does not?
d about his dog. /

phrase that is inside of

bu]i'-‘/nllﬂuff‘ Hew J.,

(a) John suspects that Mary said that Bill is worrie
\E }'f‘l) h:{(”,’,; f f" )
-’7 - ! "/f

(b) Big happy dogs run with joy.
A’gifjohn‘s very surprisingly hungry dog will even eat salad. Al g
(d) The dog on the maton the floor just woke up. Z \/ 7 : T‘J’ } q! _// '4’4([;,;,‘ /
4. Which of the following sentences contains a ditransitive verb? (€] Wl
(b) TP

@ TP
/\ /\
NP vr NP VP
AN SN YANNRDZAN
John  remembered TP John remained PP
/N , AN
tc VP in NP
/N ST
the store PP

talk PP
to NP with NP
the captain the cheap wine

1‘)//“’\ NP/\W
N

NP VP

John removed NP PP John rcma%
the pencil  from NP the slides /PP\
from NP

the table

the first week -



5. Here are some phrase structure rules for English (notice that these rules are simpler than the rules we've used in class)
: ve used in class).

TP — NP (T) VP

NP — (D) (Adj+) N (PP+)
VP — V (NP) (CP) (PP+)
PP — P NP

CP—- (C)TP

(a) r False: These rules allow a VP to occur inside a VP. Trve
P

N T VvV P N W D N
b Jr False: These rules predict that ‘Drivers must stop for pedestrians in the crosswalk’ is ambiguous. Tm

(c) Use these rules to draw a tree for the sentence ‘Mary wondered whether a student from USC had stolen her
he tree directly on top of

chocolate Notice that the lexical categories are provided for you below. (You may draw t

these words if you like.)

/f‘ 0N ,‘ A s /\ \ P \
;7 / P! [ N\
D N
a

N \ C
Mary wondered whether

student from USC had stolen her chocolate

6. The data in ii. and iii. below show that various words from the sentence in i. can be replaced by ‘one’

he floor] -/

i, Mary forgot about [the book of poetry with the red cover that was on t

ii. Mary forgot about [the one with the red cover that was on the floor]

jii. Mary forgot about [the one that was on the floor]

)] L':?t all of the phrases in i. that this replacement test data would identify as constituents.
n rl
bode of oekty” ard  “book of poely win fle nd coes"

(b) True ohe phrase structure rules for English in Question 5 above predict that these phrases are constituents.

Talse

2
&
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f the constituents are

. m Kurman.i a Ia uage (0] .Ve y
. . ] ! [ l 1 l g g . gl t t’

i lawik gid

‘The boy went’

il.  [Kecke dhreje rindi ]i
girl tall  beauti came

‘Thebeauti girl came’

iii.

(a) Based on these data, complete the NP and VP rules for Kurmanji:

v TP— Np V?

sove— (W) v
v AP— A (Ap)

Jes that you provided in Part (a), together with the following table, translate the

(b) Given the the phrase structure ru
sentence ‘You saw red apples’ into Kurmanji. ‘
Word Category Gloss ,/’1 4
sor Adj ‘red’ Ve E F
te N ‘you’ /
di \% ‘saw’ ", _/
seve N ‘apples’ T V
te /N d;
’ - \
N A )
Seve  Sof

Your translation:

v e seve Sor g

which is spoken in the Philippines, the word ‘pingan’ means “dish” and the word ‘pingpingan’

8. In the language Ilocano,
le of which morphological process?

means “dishes”. This is an examp

(a) total reduplication
j;b‘)/ partial reduplication
(c) suppletion

\/ (d) alternation

(€) compounding

@



9. Consider the words ‘collectivizing| ‘relativizing, and ‘narrativizing’ Assume the roots of these three words are the verbs
‘collect, 'relate’, and 'narrate) and that they consist of the following morphemes:

collect + ive + ize + ing
relate + ive + ize + ing
narrate + ive + ize + ing

Assume also the following data regarding the suffixes, ‘-ive, “ize’, and ‘-ing’ As usual, grammatical words are indicated
by a ¥, and ungrammatical words by a *.

Word Category Gloss
Y special Adj “better or different”

Y assert v “say” _
; assert-ive  Adj :property someone has when they as.sertalot" ez (o )(:I S [A J_’ [v }Q_ I\"G_l
special-ize 'V ‘what someone does to become special” -

Y assert-ing  V “assert (present progressive)” i2¢ - [M‘ )f:) =) [ W [-Ml X] - (75J

*

*

special-ive - - " ) ) . -
assert-ize - - Ilj : [\. /J )[V [-v) J -‘U‘/J_]
* special-ing - -

(a) Based on the data above, briefly explain why the sutfixes Lannot attach in the followi mg order:

. _ | Fooer fe clake Agn\,f/l;\,r b /--)An, r _),[0’ ((huf/
e 1 ks b b e eld A T
*marrate + ive + dng + ize ’-{'xff' ! -«)\j o it doe pyt ﬁff,.”!':[ afn ;[-lJS'o ha
Q(Cl’i( h:'_} il V’

(b) Now briefly explain why the suffixes cannot attach in this order cither:
) Tl aal N gt A Rr’\‘l 11.[
’-"N (\4[_[;\-',§ A 12¢ 1 Aenval’d /LJ e

* collect + ing + ive + ize N

* relate + ing + ive + ize i ‘yd 6 ”"FIW r’,m) Tt NH“ "l& o !’JH”ICL 1n 1],1
¥ narrate + ing + ive + ize
ond Wk, {"N@ s order .Tv,é'JJ(j \_/

i ' ; ‘ B
10. In English, two-syllable verbs may be derived from two-syllable nouns by shifting stress from the first to the second
syllable, as illustrated in the table below (a vowel with an accent " indicates stress):

This is an example of which morphological process? Noun  Verb

(a) total reduplication récord  recérd
import  impdrt
convict  convict
imprint  imprint /
6bject  objéct \/

(b) partial reduplication.

(c) suppletion

,(d{ alternation

(e) compounding

o)



. Assume you're studying a language, and you have figured out the following words:

Word Category Gloss

saft N “book”
desp \Y% “read”
tolk Adj “sweet”

You then discover three affixes — ‘ak’ ‘be} and ‘cu’ — and gather the following morphological data:

Word Cat Word Cat { Word \Cat_ Word Cat
4 desp-ak Adj Y cu-tolk  Adj ¥ be-tolk N * be-cu-desp -
* tolk-ak - * cu-desp - * be-desp - / Y be-cu-tolk N
* saft-ak - ¥ cu-saft - * be-saft — Y cu-desp-ak Adj

Y be-desp-ak N
7 be-cu-desp-ak N p)

(a) Propose formal derivational rules for each affix. Your rules should predict the judgments that we see above. I have
done the first one for you.

ak:  [v X] = [ag [v X]-ak]

o X3 beay ¥ \/\/
]

cu: LMJ X1 3 \.,MJ Cw— LA%J ‘AJ

(b) Using your rules, draw a tree for the word ‘bu-ci-desp-ak’

a\{s ok

14. Which of the following is true of the sentences ix? iand ii? (C'_)
(a) (i) entails (ii) i. John bought a book
(b) (i) and (ii) are synonymous ii. John bought a red book
(c) (i) and (ii) are independent

\(sf None of the above



